

$$\lim_{n \rightarrow \infty} \sqrt[n]{\left(1 + \frac{2}{n}\right)^n + \left(1 - \frac{1}{n}\right)^n} = \lim_{n \rightarrow \infty} \frac{\left(1 + \frac{2}{n}\right)^{n+1} + \left(1 - \frac{1}{n+1}\right)^{n+1}}{\left(1 + \frac{2}{n}\right)^n + \left(1 - \frac{1}{n}\right)^n} = \textcircled{\text{VII}}$$

$$= \lim_{n \rightarrow \infty} \frac{\left(1 + \frac{1}{\frac{1}{2}(n+1)}\right)^{\frac{1}{2} \cdot (n+1) \cdot \frac{2}{1}} + \left(1 + \frac{1}{-(n+1)}\right)^{(-1) \cdot (-1) \cdot (n+1)}}{\left(1 + \frac{1}{n \cdot \frac{1}{2}}\right)^{\frac{1}{2} \cdot n \cdot \frac{1}{1}} + \left(1 + \frac{1}{(-1)n}\right)^{(-1) \cdot (-1) \cdot n}} \quad \text{VOAL}$$

$$\frac{\lim_{n \rightarrow \infty} \left(1 + \frac{1}{\frac{1}{2}(n+1)}\right)^{\frac{1}{2} \cdot (n+1) \cdot \frac{2}{1}} + \lim_{n \rightarrow \infty} \left(1 + \frac{1}{-(n+1)}\right)^{(-1) \cdot (-1) \cdot (n+1)}}{\lim_{n \rightarrow \infty} \left(1 + \frac{1}{n \cdot \frac{1}{2}}\right)^{\frac{1}{2} \cdot n \cdot \frac{1}{1}} + \lim_{n \rightarrow \infty} \left(1 + \frac{1}{(-1)n}\right)^{(-1) \cdot (-1) \cdot n}} =$$

$$= \frac{e^2 + e^{-1}}{e^2 + e^{-1}} = \text{[scribble]} = 1$$

$$\lim_{n \rightarrow \infty} \left(1 + \frac{1}{\frac{1}{2}(n+1)}\right)^{\frac{1}{2} \cdot (n+1) \cdot 2} \quad \text{a vety } \lim_{n \rightarrow \infty} (a_n) \stackrel{\text{VOAL}}{=} (\lim_{n \rightarrow \infty} a_n) \quad \text{[scribble]} \text{ } \lim_{n \rightarrow \infty} (a_n) \stackrel{\text{VOAL}}{=} (\lim_{n \rightarrow \infty} a_n)$$

Pozn. U ostatujch obdobie
~~obdobie~~
 budeme psat, ze
 $(1 + \frac{x}{n})^n \rightarrow e^x$
 preto tak

a a vety
 $\lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n = e$
 dostavame $\left(\lim_{n \rightarrow \infty} \left(1 + \frac{1}{\frac{1}{2}(n+1)}\right)^{\frac{1}{2}(n+1) \cdot 2}\right)$
 a vzťah $\left(\lim_{n \rightarrow \infty} \left(1 + \frac{1}{\frac{1}{2}(n+1)}\right)^{\frac{1}{2}(n+1)}\right) = e$
 tak ze $\left(\lim_{n \rightarrow \infty} \left(1 + \frac{1}{\frac{1}{2}(n+1)}\right)^{\frac{1}{2}(n+1) \cdot 2}\right) = e^2$